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(i)

A sequence u;, 1y u3, ... is such that u; = 1 and

Upe1 =

2u,+3

Asn—> o, u,— 1.

Find the exact value of /.

X

By considering the graph of y =

State the behavior of u, when u; = 0.

+4

2x+3

5
u,,+4’ foralln>1.

—x, show that u,-; <u,, ifu,>1
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The nth term of a sequence is denoted by a, . The sequence is defined by
a,, = pa,+q forall n>1, where p and ¢ are constants.

The first three terms of the sequence are given by ¢, =0, a, =2 and g, =7.
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(i) Find the values of p and g. 2]

(ii) Express a, interms of n, for n>3. [4]




